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Addition two/three numbers up to 10000 #1

1033 + 4179 4 1931 =
6219 + 3439 + 1537 =
7090 + 9952 + 34 =
4363 + 3748 =

365 + 416 =

8644 + 3632 + 7174 =
5663 4 3782 + 3584 =
4747 4 352 =

4856 + 1980 =

9626 + 8181 + 8278 =
7868 + 3977 + 6623 =
8991 + 6139 + 1416 =
2082 4 8535 + 6443 =
7689 + 712 4- 5054 =
2791 4 2762 =

3803 + 6626 + 8417 =
9466 + 5788 =

6286 + 8396 =

0981 + 919 =

7945 + 5845 4 6789 =
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Addition two/three numbers up to 10000 #1 (Solutions)

1033 + 4179 4+ 1931 = 7143
6219 4 3439 + 1537 = 11195
7090 + 9952 + 34 = 17076
4363 + 3748 = 8111

365 + 416 = 781

8644 + 3632 + 7174 = 19450
5663 + 3782 + 3584 = 13029
4747 + 352 = 5099

4856 + 1980 = 6836

9626 + 8181 + 8278 = 26085
7868 + 3977 + 6623 = 18468
8991 + 6139 + 1416 = 16546
2082 4 8535 + 6443 = 17660
7689 4 712 4 5054 = 13455
2791 + 2762 = 5553

3803 + 6626 + 8417 = 18846
9466 + 5788 = 15254

6286 + 8396 = 14682

6981 + 919 = 7900

7945 4 5845 + 6789 = 20579



